Efficiency vs Dxy(PV)

0.8,

efficiency vs dxy(PV)

0.

920 —15 10 5 0

5 10 15 20
TP dxy(PV) (cm)

—"— DQM_beforePR

—*— DQM_afterPR

0.8]

efficiency vs dxy(PV)

0.6F

0.4]

Ratio

0.

Efficiency vs Dz(PV)

1.

efficiency vs dz(PV)
o
@ N

o
ey

1
»

0

Efficiency vs Dz(PV)
1.

10 20 30
TP dz(PV) (cm)

SEY: T
a :
5 :
s 1 -------------:---.---:--
> . .
> : :
o .
S 0.8 +
o .
= :
[} .
0.6} -1
0.4 :
L. i | i |
o 18 i . :
& A1
1—--:--- -: :
: : ||:|
0865 0 0

.5 1
TP dz(PV) (cm)




	Contents
	Page 1


